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Listing 1: 7029 &

#include <stdio.h>
#include <stdlib.h>

double funci(int count, int *array) {
for (int i = 0; i < count - 1; i++) {
for (int j = i + 1; j < count; j++) {
if (arrayflil > array(jl) {
int temp = array[il;
array[i] = array[jl;

array[j] = temp;
}
}
}
if ( (b) b <
return array[count / 21;
} else {
return (array[count / 2 - 11 + arraylcount / 21) / 2.0;
b

double func2(int count, int *array) {
int sum = O;
for (imt i = 0; i < count; i++) {
sum += array[i];

return (double)sum / count;

int main(int argc, char *argv[]) {
if (arge < 2) {
printf ("Usage: %su<numl>_<num2>,. .., <oumN>\n", argv[0]);
return 1;

int count = argc - 1;
int *array = (int *)malloc(count * sizeof (int));

for (int i

= 0; i < count; i++) {
arrayl[i] =

atoi(argv[i + 11);
printf ("Result,of funcl: %.1f\n", funcl(count, array));
printf ("Resultof func2:,%.2f\n", func2(count, array));

free(array) ;
return 0;




